LABJND -Y-Kontrast

YIAY) I (YIA
(VIR T (YIEY)) normiert fiir ( Y/AY),

CIELAB -Y-Kontrast

YIAY) [ (YIA
(VIR 7 (VI8 normiert fiir ( YIAY),

L¥L* = (Wa) {In(1+aY)-In(l+aYy} [1a] L*=s(Y/Yy)"=d (Yn=100,Y,=18, s=116, n=1/3, d=16) [L.
L¥/L* 4= (ta) {In [ 1+ b-(Y/Yy)] - In (1 +b)} [1b] L*=r (YY) "=d (r=s(Yy/Yn)"=65,49,L* ;= - d) [1b]
Hellbezugswerty Kontrast Y/dY=Y/{[(Ya/(ns)I(Y/ Yn)l_"} [4c]
(YY) 1 (YudYy) (V10 =Yu (LYl (nS) 1Y/ Yo'} [4d]
S[Y/(L+aY)]/[Yy/(L+aYy)] [4h] (Y7 dY)/ (Y 1dY), = (Y1 Y)" [4€]
log [(Y / dY)/ (Y / dY)] = (n) log(Y / Yy) [41]
hgp01-5a hgp01-6a
YIAY) | (YIA IECSRGB-Y-Kontrast YIAY) | (YIA TUBSRGB-Y-Kontrast
(VIR T (V1A normiert fiir ( Y/AY), (VIR 7 (Y18 normiert fiir ( YIAY),
L* =s(Y/Yy)"-d (Y,=100,Y,=18, =100, n=1/2,4, d=0) [1 L*=s(Y/Yy)"=d (Y4=100,Y,=18, =100, n=1/In(10), d=0)1
L*=r (YIYQ)"=d (r=s(Y/Yy)"=48,94,L* ;= r - d) [1b] L*=r (YY) "=d (r=s(Yd/Yy)"=47,48 L% ;= - d) [1b]
Y 1dY=YI{[ (Yo (ns)](Y 1Y) ™ [4c] Y dY=Y/{[ (Yo (ns)]Y 1Y) ™) [4c]
(Y IYL = Yo LY (nS) (Y / Yo) "} [4d] (V1Y =Ya (LYl (nS) (Yl Y)' ") [4d]
(Y 1dY) (Y 1dY), = (Y Y)" [4€] (Y 1dY)/ (Y 1dY), = (Y1 Y)" [4€]
log [(Y / dY)/ (Y / dY))] = (n) log(Y / Y) [4f] log [(Y / dY)/ (Y / dY)] = (n) log(Y / Yy) [41]
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